1.5

0.5

atl1*CurMon:Entry$

0
run7288 000 at atl1.png

50 100 1

L Tl a3 Call )l ol = Tl Fll 5 i Fall? B0
- - ~ oo =

= S e e e e i i o o e i
. L R e 2 - 2 o o o

16000
: 14000
| 12000
: i 10000
! "
| ; 8000
: : 6000
éé : 4000
2000
| | 11 i 1 111 | L 111 | :: | | | 1 11 :":1“3 D
50 300 350 400 450
Entry$

atl1*CurMon {ErrorFlag==0}

evilree

Entries 351878

Mean 3.862

Std Dev  0.02539

3.8 3.85 3.9 3.95 4

atl1*CurMon

10000

5000

asym_atl1/ppm:pattern_number {ErrorFlag==0}

ke

W o]
Y

| II
|

RIVEY.

| B

|
{

[
T}
7 1
I |
I {
T}
T 1
0 1
I
I {
I {
01
[ 1
0 1
I |
I
I |
| I

5000 - ]
Iisii BN Rvivi viviving g% by Lol Eéié----iéiéiéié--;é;ié"
3 xxxgxxxx 3 5 S xg o gx W R xg
s R 5% i 5 S 5
B TS S Lo IS I S 1SS
. g X7 ) S
-1DDDD_ " N N
| | | | | | | | ] | | | | ] | | | | ] | | |
0 20 40 60 80 100

pattern_number

x10°

asym_atl1

i Entries 87883
900

- Mean —-2.53

i StdDev 1560
800

I Underflow 9388
200— Overflow 9428
600
500
4DD [ 111 | I 1 1 1 | 1 1 1 1 | [ 1 1 1 | [ 1 1 1 | I 1 1 1

-3000 -2000 -1000 0 1000 2000 3000
Ppm




run7288 000 at atl2.png

atl2*CurMon:Entry$ atl2*CurMon {ErrorFlag==0} asym_atl2/ppm:pattern_number {ErrorFlag==0} asym_atl2
c 4 - = Entries 87883
= B - thTree - -
= B 20000 - -
- — =
- 240 Mean 1.803
vhad . Entries 351878 40000 y 3 :
o - 18000 — - x s 5
© B B o -HH§HH }}:%i ® ﬁ?ﬂi B Std Dev 1722
16000 :— Mean 2.425 TTTTT TTT 230~
- 20000 H B Underflow 3.317e+04
= 14000 g - _
2 . - Std Dev 0.06999 ! 220r Overflow 3.352e+04
- 12000 n Il
. 10000~ ! 2101
1.50 8000 - znnjlﬂ] _ -
5 - 20000 B
I 6000 ) L) el LU LL LD LU L :
N N b Lo W8 xg-— X g:x:x XX HKHHXxLL Mxxxx L+ - |
C B wL | L W HH O Rx¥ kX XXX XXX 190 |
- 4000 b X :m:-§— x %X X XXX X, - _
0.5 - 40000— |, ><: - U
B 2000 — B 180
D_||||||||||| ||||||||||||||||| ﬂ:' II_L||||J|IIII| I :""|""|""|""|""l""
0 100 1 D0 350 400 450 28 29 3 0 -3000 -2000 -1000 2000 3000
Entry$ atl2*CurMon pattern_number ppm



atr1*CurMon:Entry$

=
D |
S 6
= Jol
B! ¥ :
B I :
q
4t -
= o !
- 3 i"
3 . I
B -' k
| D I i
- ¥ iE
21— ;
=
i II|IIII|II| P :.:."
0 50 100 150 200 250 300 350 40(

run7288 000 at atr1.png

450

Entry$

14000

12000

10000

8000

6000

4000

2000

atr1*CurMon {ErrorFlag==0}

evilree

Entries 351878

Mean 5.665

Std Dev  0.0417

I|I l l I|I
45 55 555 56 565 57 575 58 585

atr1*CurMon

15000

10000 =

5000

-5000

10000

asym_atr1/ppm:pattern_number {ErrorFlag==0}

T BRI

W}
1

.
s

K
K 3
W T

}{

W
w0
1

— X

-

L
R
R

s
o
EA A 4
%P{ }{i}{}{}{

wo
w0

1
80 100

pattern_number

800

750

700

650

600

250

200

4501

4004
-3000

asym_atr1

.III|.|III|IIII|IIII|IIII|IIII|IIII|IIII|

Entries 87883
Mean 9.232
Std Dev 1607

Underflow 1.288e+04

Overflow 1.293e+04

|

-2000

—-1000 0 1000

2000 3000
ppm




atr2*CurMon:Entry$

=]
rT T T T

)

atr2*CurMon

: 15
o & i
I

C |III

0 WA NRERENR _
0 50 100 150 200 250

run7288 000 at atr2.png

00 350 400 450

Entry$

x10°

25000

20000

15000

10000

5000

atr2*CurMon {ErrorFlag==0}

B Entries 351878
B Mean 4.433
I Std Dev  0.1063
_I ] | | ] | L1 1 | L1 1 | L1 L1 IJ Jd 11 J_ | | | 1
3.8 4 42 44 46 48 5 52 54
atr2*CurMon

60000

40000

20000

20000

40000

60000

B x
_ 5
X ¥ x

- XX % X
| xxx X T XX

KRR THH K K | X KM} OXKN HNHM K x 3
R R D S A A D A S I T
T | TTO0OKT | TT_ 775 TXX1 8%, BT TXXExsxT
x§§xg :x:xg Mwmgmﬁx
v L | Lo % | %o W3R Wy %

Y xng Wb x| W % 5 i o
T WX 1 ®OHKX M 3% 5
i 5 s

5 5

- x
:_ i

] ] ] | ] ] ] | ] ] ] | ] ] ] | ] ] ] | ] ]
0 20 40 60 80 100

asym_atr2/ppm:pattern_number {ErrorFlag==0}

pattern_number

x10°

asym_atr2
B Entries 87883
220
B Mean 6.684
B [ _ 10l Underflow 3.423e+04
2001~ 1 _ Overflow 3.461e+04
I (L I
_ OB i
190 —l IJJ
| Al Hl
180/ L ‘
170 || '
:I | I .| | L 11 1 | | I | | | I | | I | L 11 1
—3000 2000 —1000 0 1000 2000 3000
ppm



asym_atll

asym_atl2

asym_atrl

asym_atr2

run7288 000

asym_atll
0.01— —{aoc
i —70(
0.005- oo
ol
0.005
_0.01
| 1 | 1 | | 1 | 1 | | | | 1 | | | | | | | | | |
0.01  —0.005 0 0.005 0.01
asym_atll
asym_atl1l
| —aoc
" 0.04
—{aoc
—{70¢

0.02

-0.02

—-0.04

asym_ atll

-0.01 —-0.005 0 0.005 0.01

asym_atl1

0.01 —a0(

i {80
0.01

- —{70¢

0.005H —60C
D_
0.005—
_0.01

i 1 | 1 | | 1 | 1 | | | | 1 | | | | | | | | | |
—0.01 —0.005 0 0.005 0.01
asym_atll

0.06— —10¢
| L
0.04—

- —{&oc
0.02—
D_
—0.02—
—0.04—
-0.06—

asym

D D1 D 005

asym_atl2

-0.005

0.01

0.005

—90C

—80C

—70C

—0.01
| | | | | | I | | | | 1 | | | | | | | 1 |
-0.04  -0.02 0 0.02 0.04
asym_atl2
I —aoc
0.04—
- —{80¢
- —{70¢
0.02—
i —60(
ol 50(
I 40¢
-0.02— 0¢
i 20¢
—0.04
I 10(
i l l | l l l I l l l | | l l | l l l | | l D
-0.04  -0.02 0 0.02 0.04
asym_atl2
0.01 y
[ —10¢
- . ]
0.01
i —(80¢
- ]
0.005~ g
- 80(
L
D -
[ = 400
-0.005— W
- 20¢
-0.01
B 1 1 | 1 1 1 I 1 1 1 | 1 1 1 | 1 1 1 | 1 1 D
-0.04  -0.02 0 0.02 0.04
asym_atl2
0.06—
—{30¢
0.04
—{25¢
0.02
20¢
0
15¢
-0.02
10¢
-0.04
50(

-0.06—

-0.02

y — —90(
0.01 ]
i 80t
- _170(
0.005
§ _0(
i O
i 50¢
0l [ |
- 40(
B [ |
: 30(
_0.005—
i 20¢
B [ |
_0.01— r 100
I | L1 | | | | | | | | | | | | | | | | | | | | | | L1 | D
“0.01 -0005 O 0005 0.01 0.015
asym_atri
1ot
| i
. 0.04
i —80(
0.02
D |
I 40(
_0.02—
i 20(
_0.04—
- 0
L 1 1 | | I | | | I | | | I | | | I | | L1 1 1 D
“0.01 -0005 O 0005 0.01 0.015
asym_atri
0.01 y
i —l8or
0.01
- _170¢
0.005— —(60C
B 50C
D |
i 40(
_0.005— 30¢
B 200
_0.01
i 10
i 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | L1 1 1 | | I . | D
—0.01 -0005 O 0.005 0.01 0.015
asym_atri
0.06—
| —10¢
0.04
—80(
0.02

-0.02

-0.04

-0.06

at mutual” correlation-COFZ.png =

B0(

400

200

0
0.01 0.015
asym_atri

- —10(
0.01—
i —80¢
0.005—
D L
-0.005—
—-0.01 _— -
| 1 | | | | | | | | 1 | | | | 1 | | | 1 | | | | I D
-0.06 -0.04 -0.02 0 0.02 0.04 0.06
asym_atr2
I | —30(
004
B —25(
0.02—
i —20(
D L
B 15(
-0.02— 10¢
—0.04+— 500
[ m
| | | | | | | | | | | | | | | | | | | | | | | | I D
-0.06 -0.04 -0.02 0 0.02 0.04 0.06
asym_atr2
0.01 y
- .. L] —10(
0.01—
- —80¢
~ [ |
0,005 g
[ N
D L
[ =
-0.005—
—0.01—
B L -
i | 1 | | | | | | | | 1 | | | | 1 | | | 1 | | | | I D
-0.06 -0.04 -0.02 0 0.02 0.04 0.06
asym_atr2
0.06— —10(
I -
0.04—
B —80(
0.02—
D L
-0.02—
-0.04—
—0.06
| 1 | | | | | | | | 1 | | | | 1 | | | 1 | | | | I D
-0.06 -0.04 -0.02 0 0.02 0.04 0.06
asym_atr2



asym_atll

asym_atl2

asym_atrl

asym_atr2

run7288 000

asym_atll

12 [ ndf

p0 3.074e—07 + 2.445e-07 =

48.8 / 38 -

p1 0.9992 + 0.0001
D_
-0.005— -
-0.01— -
_I | | 1 | | | | | 1 | | | | | 1 | I | | 1 | | |
-0.01 —0.005 0 0.005 0.01
12/ ndf 2583738 -
po 3.96e-05 + 3.30e-05
p1 0.9017 £ 0.0155 }
Cor factor 0.2221 ++{#H_ J’Jr
- +t *Ml
o |
-0.005F P #H‘LHH{F
~0.01F } H
-0.015F
-0.02 |
-0.025—
—II|IIII|IIII|IIII|IIII|I
-0.01 —0.005 0 0.005 0.01
¥/ ndf 33.52/38
p0 1.113e-05 + 9.829206
p1 0.0254 + 0.0046
Cor factor 0.0213
| }; + ‘|k
-0.002 —
-0.004 —
_Ill_lllllIIII|IIII|IIII|I
-0.01 —0.005 0 0.005 0.01
¥ ndf 27.49/38 -
p0 3.754e-05 + 3.671e-05
p1 1.061+ 0.017
.I.
Cor factor 0.2341 }\ .
- 1
- - it m
o {
-0.01— J’ lrﬁ
—0.02
Z +
um DDGE DDDE

asym

at mutua

asym_atl2

¥ ndf 35.54 /32 -
p0 ~1.049e—08 + 8.144208 ]lh )
p1 0.05328 + 0.00095 Jf
A
Cor factor 0.2221
e
R
-0.002— - N Hﬁw
_0.004
_0.006
_I | | |_ | | | | | | | I | 1 | | | | |
—0.04 —0.02 0.02 0.04
¥ / ndf 2557 /32 ol

pld  -8505e-07 £ 1.13%e-06

p1 0.9980 + 0.0001
D L
—-0.02 A
004 7
_I _I | | | | | | | | | I | | | | | | |
—0.04 —D.02 0.02 0.04
¥Z i ndf 2345 [ 32 -
p0 3517206 + 9.667e06
p1 0.05624 + 0.00113 -
Cor factor 0.1916 ||
0.002 HW |
O |
i HF;JF
_0.002 }
~0.004
_I | I_ | | | | | | | | I | 1 | | | | |
—0.04 —D.02 0.02 0.04
¥2 | ndf 36.19 /32 -
p0 —6.031e—06 + 1.271e-05 +'+ B
+41-'|]-
p 1.051+ 0.001 L
Cor factor 0.9423 o
D L
—0.02 A
: _,_4-:*
- ++
004 47
—D ﬂE- 1 | | | |

E Dﬂ-i

lwcorrel tion-fit.png

¥2 / ndf 34.23 /37
pO 7.753e-07 + 8.328e-06
p1 0.01822 + 0.00332
Cor factor 0.0213 } B
[ ‘ { +M+#ﬁjf|
[ L
-0.001F | i
-0.0021
-0.003F
_IIII|IIII|IIII|IIII|IIII|I_III
-0.01 -0.005 0 0.005 0.01 0.015
¥ { ndt 29.93 /37 -
pO 2.978e-05 + 3.321e-05
p1 06042 £ 0.0132
Cor factor 0.1916
0.01F -
i H }
0.005F +
n Jﬁ” J[
oF [ 1-
- b ]
-0.005F H}H*
E T
-0.01F |H
_D=ﬂ15__lllllIIII|IIII|IIII|IIII|IIII
-0.01 -0.005 0 0.005 0.01 0.015
%2/ ndf 32.06 /37 -
p0  2.327e-07 + 2.932e-07 =
p1 0.9989 = 0.0001 i
D_
-0.005
-0.01
_II_II|IIII|IIII|IIII|IIII|IIII
-0.01 -0.005 0 0.005 0.01 0.015
%2 | ndf 31.89 /37 -
p0 2.68e-05 £ 3.72e-05
pt 0.6741+ 0.0147 5
Cor factor 0.1762 } }
0.005F t Hﬁ
n ++***1 '
oF | _
~0.005F MHﬁ
-0.01F 1[ Pl
-0.015
:I 1L 1 1 | 1 1 1 1 | 1L 1 1 1 I 1 1 1 1 | L 11 1 | L 1 1 1
-0.01 -0.005 0 0.005 0.01 0.015

¥2 | ndf 28.53/ 32
p0 1.656e—07 + B.097e—06
p1 0.05156 + 0.00084 ” T
Cor factor 0.2341 #Jrf ﬂ
o
~0.001F .
- +JrJr
-0.002F Hﬁ
-0.003F )
~0.004
—D.DGE'I__ | | | 1 | | | | I | | | | 1 | | | 1 | | | | 1 | |
-0.06 -0.04 -0.02 0 0.02 0.04 0.086
%2/ ndf 41.12/32 _ -
p0 1.337e-05 + 1.136e—05 . Y-
8
p1 0.8429 + 0.0012 A
-
Cor factor 0.9423 ]
D |
~0.02— -
L 4:|.|._++
i s
-0.04 -1
I_ | _I | | | | | | I | | | | | | | | | | | | | | | |
-0.06 -0.04 -0.02 0 0.02 0.04 0.086
%2/ ndf 43.1 /32 -
p0 5.958e-06 + 9.674e—06
p1 0.04635 + 0.00100 k |
Gor factor 0.1762 o
0.002—
= A
I { 1l
o ' | { ,
i #H {
_0.002 : H
-0.004 —
I_ | | | I_ | | | | I | | | | 1 | | | 1 | | | | 1 | |
-0.06 -0.04 -0.02 0 0.02 0.04 0.06
AL htemp
0.041— Entries 87883
| A Mean 3.441e-05
0.02 i
: Meany 3.441e-05
0 B Std Dev  0.01096
—D.IDE_— ) Std Devy 0.01096
—0.041— e
—D.ﬂﬁr | _I | 1 | | | | I | | | | 1 | | | 1 | | | | 1 | |
-0.06 -0.04 -0.02 0 0.02 0.04 0.06




asym_atll

asym_atl2

asym_atrl

asym_atr2

run7288 000

asym_atll

0.01—

0.005

-0.005—

-
-0.01— .

-0.01 —-0.005

asym_atl1l

0

0.005

0.01
asym_atll

v 0.04—

0.02—

_0.02

-0.04—

ym atll

0.01

0.005

0.01
asym_atl1

0.01—

0.005

-0.005—

-0.01—

-0.01 —-0.005

asym_atl1l

0.005

0.01
asym_atll

0.06—

0.04—

0.02—

-0.02

-0.04—

-0. DE—

D D1 D D{}E

asym

D DIEI'E

at mutua

lﬁﬁ“ﬂt‘:orre]ahon-scat ‘Dng

asym_atl2

0.01—

0.005

-0.005—

-0.01

-0.04

0.04
asym_atl2

v 0.04—

0.02—

-0.02—

-0.04—

ym atl2

0.01

0.04
asym_atl?

0.01—

0.005

-0.005—

-0.01—

1
-0.04

0.04
asym_atl2

0.06—

0.04—

0.02—

-0.02—

-0.04—

0. nﬁ—'

0.02

0.02

DD4

asym_atrl

0.01—

0.005

-0.005—

-0.01

-0.01  -0.005

0

0.005

0.01 0.015
asym_atri

0.02—

-0.02—

-0.04—

-0.01  -0.005

ym atrl

0.01

0

0.005

l
0.01 0.015
asym_atri

0.01—

0.005

-0.005—

-0.01—

-0.01  -0.005

asym_atrl

0

0.005

1
0.01 0.015
asym_atri

0.06—

0.04—

0.02—

-0.02—

-0.04—

-0.06—

-0.01  -0.005

0

0.005

1
0.01 0.015
asym_atri

asym_atr2

0.01—

0.005

-0.005—

-0.01

-0.06 -0.04 -D.02 0 0.02 004 0086
asym_atr2

0.02—

-0.02—

-0.04—

-0.06 -0.04 -0.02 0 0.02 0.04 0.06
asym_atr2

0.01 R

0.005

-0.005—

-0.01—

-0.06 -0.04 -D.02 0 0.02 004 0.08
asym_atr2

asym_atr2

0.06—

0.04—

0.02—

-0.02—

~0.04{—

_Dlnﬁ_llllllII|III|III|III|III|

-0.06 -0.04 -D.02 0 0.02 004 0.08
asym_atr2




